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OWhat were the problems with Hirose’s robots? —
@They were very expensive. ﬁuﬂ@.@‘]
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@®They would take away their jobs. < EBORES, BHOWD) 22h2h
OWhat are the keys to solve each problem? kﬁ%’@i@fﬁéﬁéo

Describe them in one word.
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ODevise your own machine, device, or system to

remove landmines on the basis of three

requirements to solve Hirose’s problems.
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What do we need to remove landmines in Afghanistan?
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@®Doesn’t this machine break?

@How does this machine move?

@ Why does this machine have a strange form?
@How do we demine by using this machine?

OPlease write your questions on the cT— L — FOEMAEBERICEXHX
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OPretend you are the inventor of Mine Kafon
and write a passage to introduce Mine Kafon
to Afghan people as a solution to Hirose’s
problems.

(FRED)
How should we introduce Mine Kafon to Afghan people on the basis of three requirements
for solving Hirose’ s problems?
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cut down a lot of bamboo. —féﬂgﬁt AREEIC R D,
@1t is like a ball, so it will take a long time to
clear landmines.
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